MONDAY TUESDAY

\| N 143,42, 0-1,__ -3 1. 46, +4, 0, 4,6
M
I % 2.999,997 +5= 2.8 =___
|' é’ 3. 45 = (improper fraction) ___ AT Toelm,
4. Parvati has 12 books and Linda has 8 books. How 4,999,998 + 6 =
. [together?
many artogether 5. What 3-D shape has 4 triangles and 1 square?
5.10,000 - 8 = ~ |
' k 6. Write the numeral one million, one hundred
6. Round 18,042 (nearest hundred). thousand and ten.
7.9x(70+30)= |
| 8. A pair of shoes costs €40. There is 50% off. What is L]
the new price? L [_9_
€ 8.The place value of the 8in28=__
i'L 9.105500 = 9.(80+20)x17=____
| 10.5km=—___m 10.5250+4,250=____
i 11.12x60=________ 1110}650 = 7
]
| 12. 10,000 — 1,500 = 12.2.023 +3.314 + 4.562 =
: 13. Draw a 270° turn anticlockwise. 13. From 2 to 4 o’clock, the hand rotated
| | [730°.  [Jeoe.  [190°.
? 14. Colour +.
! 15. The angles in a scalene triangle add up to
! SO 14.1s 720 divisible by 92 !
[ 16.800x8=_____ 15. This right angle has ______ degrees. I
’J 17. Area = _m?
il 2m
| £
6m il 5
1=
| & — o 16. How many lines of symmetry has a square?
I E 3
l 3m
1 18. Perimeter=_______m
I| )
| 19. % cm = (mixed number) 17. The number after 1,299,999 is
| 20. 1,000,000 + 1,205,000 = 18. 2 of 300 = B
I
| 19.0dd+odd=__
|
20.00:59 hours=________am./pm. :
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WEDNESDAY THURSDAY

1. +15, +10, +5, , =5, ,—15 1. +12, .+, =4, 12 =
- M
3 dig Bl j_ 2. The place value of the 6 in 2.36 is ;Dt'
= 4 4 4 = T —
4 ] w
3.40x8=______ -

r
3. Draw the lines of symmetry. [
|
|

| dofr—r=—
5. There are 75 baked beans. Mum shares them equally A B:H

among 3 plates. How many baked beans are on each ‘

plate? 4.10.205 + 10.341 + 10.442 = |
= 5. T—t= — ‘
6.0.01x1.0= 6. 14:30 hours = [_Ja.m. [_lp.m.
7.109,909 - 10 = 7. Colour 60%.

8. The quitar was €600. There is 25% off ||J

It is now € 3 8. \Write the numeral one million, one hundred and ten :
thousand and ten.

: 9. There are 8 vases. There are 5 flowers in each vase. ‘
9. Which scales would you use to weigh a dog? How many flowers altogether?

I kitchen scales ! bathroom scales _ i

A 1

10. 4,350,100 + 1,000,000 = _ - 10. This is a hedron. // A\ ‘

// _--_\\_ ]

pl. = 11. Simplify 57~ ﬂ

, " |

12. Draw a net of a triangular prism. 12. Which is the same value as 7,000 g? |

| [170%0of 10 g |

| [ 170% of 10 kg |

[7170% of 1 kg |
13.0.09+3+02=

13. Colour 2,400 mL.

14.05+004+7 = 14. Draw A turned 180° clockwise.
15.600x7=___

@ — O
16. Which is coldest? 15.40f 36 =

Joec [J2ec []-5°C 16. Tick the smaller number. | 135,210 [ 135,201
17. Tick the larger number. [ 114,010 [ 114,100 17. Round 67.051 to the nearest 100

18. Write the composite numbers between 11 and 20. 18.(153) + 5 =

! ' 19.20-4)-2=________
——and — 20. Write as a number sentence.
19. 12,000 — 3,500 = 200 apples, 50 bags of apples, 4 apples in a bag.

How many altogether?
20. This angle has __ degrees. v
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PROBLEM-SOLVING

FRIDAY REVIEW

Week 33

Monday 1.
1. What is the cost of flour at 60c per 500 g if you
buy 3 kg?
- 2

2. Row A has 20 seats. Each
row after has 20 more.
What is the seating capacity?

Tuesday

1. Colour in 3 colours to show
2,400 mL in equal capacity.

2. A class survey had nine boys,
each weighing 30 kg. A tenth boy
was added bringing the class total to

310 kg. What was the weight of the tenth boy? /-

Wednesday
What do the apples weigh? 9.
el N 10
1
12.
Thursday
Which is the top view?
13
1. _
i 14.
[ ] L1 ™
1O L]
16.
2,
i | ‘ ‘ 17.
| | |
o O oLl |
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. This angle has

Prim-Ed Publishing —

+6, +4, _ ,0,-2, 18. How many degrees has a
ight angle?
s right angle
82 _ —
10— 10 =
19. Which i iew?
010012 9. Which is the top view
. The place value of the 2 in
4.121s
O[] L] [ ]
. Double 850. S — |
. Ajacket costs €50, There is || L
50% off. The new price is L
e ]
34t 3o L
4

20.2.341 + 2.106 + 2.452

. 104,902 - 10

21.500x 9

10550 =

degrees. 22. Write the numeral one
million, one thousand and
ten.
. Which is the coldest?
L 13°C []3°C 23. Draw the arrow to show
DO DC DSOC 3,600 g
Area=___ m?
2m
& E
c S 6m e~ 45?
10m
Perimeter= . m
Halve 1,350.
9,250 + 3,250 =
= 25. 20:05 hours
09 + 003 + 6 = a_m_/p‘m.
If you bought 3,000 g

of walnuts at €1.00 per
100 g, the cost was

€
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